
Topic : Fundamentals of Mathematics

MATHEMATICS

DPP  No.  17
Total Marks : 58

Max. Time : 71 min.

Type of Questions M.M., Min.

Single choice Objective (no negative marking) Q.11, 12 (3 marks, 3 min.) [6, 6]

Subjective Questions (no negative marking) Q.1 to 10 and 13,14,15 (4 marks, 5 min.) [52, 65]

Solve the following inequality

1. | x – 3 |  < 5 2. 2  | x – 1 | £ 3

3. | x – 1 | £ 5 and | x |  2 4. | x – 1 | + | x – 2 | ³ 4

5.
2–|x| 2–|x|

1–
  1, where x  R, x   2

7.
2x
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
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 > 1 8. | | x – 2 | – 1 |  3

9. | (x2 + 2x + 2) + (3x + 7) | < | x2 + 2x + 2 | + | 3x + 7 | 10. | x2 – 1 | + | x2 – 4 |  3

11. The soltuion of | x2 + 3x | + x2 – 2  0 is :
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12. The solution of | | x | – 1 | < | 1 – x |, x  R is :

(A) (– 1, 1) (B) (0, ¥) (C) (– 1, ¥) (D) None of these

13. Solve : | x2 + 4x + 3 | + 2x + 5 = 0

14. Solve | x2 – 3x – 4 | = 9 – | x2 – 1 |

15. Solve the inequality | f(x) – g(x) | < | f(x) | + | g(x) |, where f(x) = x – 3 and g(x) = 4 – x

x 1
³ 0,  x Î R, x   2 6.



1. x (–2, 8) 2. x[–2, –1 ]  [3, 4]

3. x  [– 4, – 2]  [2, 6] 4. x  
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5. x  (–, – 2) (2, ) 6. (–2, –1]  [1, 2)

7. x Î [–3, – 2)  (–1, ) 8. (– , – 2] [6, )

9. x < – 
3

7
10. x[–2, –1]  [1, 2]

11. (C) 12. (D) 13. {– 4, – 1, –1 – 3 }

14. {–2, 2} 15. x  (3, 4)


